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Q3. A student has to secure 40% marks to pass. He gets 40 marks and fails by 40 marks. The

maximum number of marks is?
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300
250
200
175

Q4. A man's new income is Rs.8400 per month. Given that his original income was Rs.7500 per

month, find the percentage increase in his monthly income.
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11%
12%
13%
14%

Q5. A tour guide earns commission by bringing tourists to patronize a certain handicraft shop.

Given that the commission he receives is 3% of the total sales. Calculate his commission on a
particular day when the 12 tourists he brought to the shop spent an average of Rs.2500 each.
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Rs.500
Rs.700
Rs.900
Rs.1000

Q6. A boy scored 90 marks for his mathematics test. This was 20% more than what he had

scored for the geography test. How much did he score in geography?
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71
73
75
78



Q7. In an examination a candidate has to secure 40% marks to pass. If a candidate secures 190
marks and fails by 10 marks. The total number of marks in the examination is?

400
360
500
600
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Q8. If 50% of y is 250, then y is 50% of

250
500
750
1000
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Q9. Three teams scored in the tournament as 125, 375 and 250 respectively. What percentage
of the total score did the winning team get?

50%
60%
65%
90%
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